EARAZROREIERT — 2 N—XBISY —F 20175E3H31H (£) 12@EF15H

‘ (] 8 ‘ (EmmEl  — | 4 () 15000 B

R = FHEABEERE C3— #5%R K&

[A&E£] 1 7% :900,000 W ~ 23&:270,000  ~ 33 :153,000 @ ~ 4 3%&:117,000 @ 5 7 :90,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . FHfE— :38. —-2-1- . — R (AAfE)

11718 a9/ ZAE—FR 4 5 =% 1(3_8)5 2-2-1-1 | 41.0 7 ;1_734) ol B

RHAL b= BIVINTSF— HEXHTT— LI
SR 4 5 | LIOESR 1:38.7 3-4-3-3 |41.0| — 8 451 | MRIEAN (#848)

2|8l10| f»T~RE—F 6.0 M o | ) A&
L:hxexy B:FE-I-X BESHH X VHE
T I : —7-7- — sARZEA (1)

3 o | VHENIAT 46 i (17;32% 7-7-7-6 | 40.2 5 (4_960) gre
SANKRTNG BENTTU—> GAVELRT7— L

5 . 4t 7 | AHEE 1:38.8 5-5-4-2 |40.8| — 1 445 | INERR (GER)

41| T— ARV v > 54.0 (1/2) 1) (&) A—h-I-2

R:xA1=Gr—Z B:eLTLA ha-)L (A) A3 -KL—ra>aE77
S L= w7 | REEZ 1:38.9 6-6-6-4 |40.9| — 2 494 | REREAR (ARAE)

50811 Y 1 xI)vry—0O 56.0E (7E) (+1) i@t "

R:d—IWRK7Y2—)b B:AXHenq> = F
4 5 | IEEA 1:39.0 4-3-5-5 |41.1| — 10 | 494 | EEHS ()

Eﬂ 4 7 56.0 (1/2) 0 EHES

LI NATA—H— Bia1x41Y INHINHT 7 — I
S . t> 5 | AEEZ 1:39.1 9-9-8-7 [39.9| — 4 467 | AENHE GEFN)

7155 F¥Fx v b > 56.0 (7E) (1) | PO
R:27)—->e—A—- B:M4273 BE BE
5 S o7 | BFEY 1:39.5 8-8-9-9 |40.4| — 6 518 | HIHBEE (AE)

Y : RRERPERA=E: 5.0 ® (rg) | B J PN
RHLRA LY E =y BiaA—F~T £ W ERS
W, 4 5 | =GN 1:39.8 10-10-10-10| 40.5 | — 3 — | TREEfT ()

ol 6| V—>—4 5.0 (1 1/2) (=) MEEE:
LTHIHTFLIY Bixa/354 pidie)

5 o B E 41, -1-2- . — RS (GlFn)

w0l o | 7FaTH -0 i 5 e 1 (461)0 1-1-2-8 | 43.5 9 (ﬁg) i
RTIRRFTEN B:IUFNyE— yaiutie)

2 “ S 4 5 | Al 1:41.3 11-11-11-11{ 42.0 | — 11 488 | REEE (MHB)

1106 7 JOty <o 56.0 (1 1/2) 1) FAEE T
L:74NVKTy Y2 BEJMN)—LT1— AV IS

® I —F—@EBIERL

13—F— 9,8,10,4,1,11,2,3,5,6,7

2= = 9,8,4,10,1,11,2,3,5,6,7

Jol=5r= 8,9,10,1,4,11,2,5,3,6,7

43—F— 8,1,10,11,4,2,5,9,3,6,7

[ N3

B OB 8 1,660 714K 8-10 2,470H 7 E 7-8 1,240 RPEL ) 2-8-10 13,240M

8 B 8 400 2-8 1,180M B 7-8 2,960 K31 8-10-2 78,990/

10 520M 2-10 1,760M B E 8-10 8,650
2 1904 B H 8-10 15,510

ABICOVWTRDTEEERROODE. TR LIV,



